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Yvonne sells 965 necklaces and 547 bracelets. How many pieces of jewelry does she

sell altogether?

Victor bought a watch worth   235 and a pair of shoes worth   491. How much did he

spend altogether?

Stacy has 124 rare coins. Her brother has 212 coins in his collection. How many coins

do they have in all?

An arboretum has 510 trees in the oak collection and 378 trees in the magnolia

collection. What is the total number of trees in the two types?

769 out of the total workers at a food-manufacturing company are men, and 681 of

them are women. How many people are employed by the company?  
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Addition Word Problems

3-Digit: S3

A cell phone store in the mall sold 308 car mounts and 856 phone cases. What was

the total number of accessories sold? 
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